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1. f the roots of the equation
x? +mx+m=0 are in the ratio p:q,

then
\[E ' JE .
qg Yp VI
is equal to
fa) 0 (b) 1
fc) 2 (d 3
2. If

V3x2-7x-30 - v2x2-7x-5=x-5

has o and B as its roots, then the value

of aff is
fa) -15 (b) -5
fc) O {d) 5

3. 1f £+9-;m and E+£=n, then what
Xy Xy

. X
is = equal to?

(@ P14 () TPTMa

mp + ng mp - nq
np - np -

(¢ B~™M4 (d) np-mg
mp - ng mp +nq

4, If a’-by-cz=0, ax-b%+cz=0 and
ax + by—c? =0, then the value of

x Y z
+ +
atx b+y c+z
will be
fa) a+b+c {b) 3
fe) 1 (d ©

5. If the equations xz—px+q= 0 and
x2+qx~p=0 have a common root,

then which one of the following is
correct?

(@ p-q=0 (b) p+q-2=0
¢/ p+q-1=0 {(d) p-g-1=0

B-ABPA-P-JRW/54A

6.

7.

B.

9,

100

If x =211!+2_5, then the value of
2x3-6x-5is equal to
fa) O (b) 1
fe) 2 (d) 3

The sum and difference of two
expressions are 5x°-x-4 and

x2+9x~10 respectively. The HCF of
the two expressions will be
(@) (x+1) b) (x-1)
(c) (3x+7) (d) (2x-3)
If (s-a)+(s-b)+(s-¢c)=s, then the
value of

(s-a)? +(s-b)? +(s-¢)? +s2

a’+b%+c?
will be
(a) 3 (b) 1
fc) O (d) -1
If the polynomial

xﬁ+lmcs+1:;cx4~.vc2 -x-3

is divisible by (x* - 1), then the value of

p2+q2 is
() 1 () 9
(c) 10 {d 13

let p and g be non-zero integers.
Consider the polynomial

Alx)= x4 px+q
It is given that (x - m) and (x - km) are
simple factors of A(x), where m is a
non-zero integer and k is a positive
integer, k 2 2. Which one of the following
is correct?

(@) (k+1)?p?=kq
(b) (k+1)%q=kp?
() k?q=(k+1)p?
(d k?p?=(k+1)%q
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1. 3% wfEm b2 +mx+m=0 % Td p:g
p. /g, m
%Wﬁ%,?ﬁ\E+J§+J§%@E

U 27

fa) 0 b} 1

(c) 2 (d 3
2. I

J3x2 - 7x-30 - V2x2 -Tx-5=x-5

ﬁiﬁuaﬁlﬁﬁ,?ﬁaﬁﬁﬂﬂw%?

(@ -15 (b) -5
¢ O d) 5
3. R -E+E:m iR -‘1+£=n %, @ X

Xy X Yy Yy

formeh TR 27

@ 2IMd gy DRI
mp + nq mp - ng

(@ P-md (d) np-mg
mp - ng mp +ng

4. R a’-by-c2=0, ax-b%+cz=0 i
ax+by—cz=0%,Fﬁ

X z
y—2 4

a+x b+y c+z

1 0 =B
(@) a+b+c (b) 3
fc) 1 [ d 0

5. 3fe Eeiicay xg—px+q=0 3R
x2+qx—p=0 T IINE o %, a
et § @ B-w @ w@
(@ p-q=0 (b) p+q-2=0
fc) p+q-1=0 {(d) p-gq-1=0
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6

q

Qo

0o

10

CaR x=234273 3, A 2x%-6x-5F AR

Forud ama 27
@ O (b) 1
€ 2 (d) 3

. A P F G I’ AR FAW 5x2-x-4
M x%49x-10 Bl W [/ FAGH H
o o (HCF) 1 27
(@) (x+1) (b} (x-1)

(c) (3x+7) (d (2x-3)

. A (s—a)+(s-b)+(s-¢)=sB @
(s—a)2 +[s—b_]? +(s~c}2 +s2
2

a2+b2+c
F1 HE 1 AM?

(@) 3 (b 1
(cj 0 (@ -1

. IR TR

x84 pxS+ gt~ x?

~x-3
[x4—1} 3 Ry g, @ pzﬂg2 @l HH
77 27

(@ 1 (b) 9
() 10 (d 13

LR @R p #R g YRR Tl R
TG A(x) = x? + px + g R fomm Hifsw) =
e @ 7 (x - m) 3 (x - km), A(x)F

A HEE §, F& m O AR P R, k
TF YARRE PiF o k> 2 R) Frefofad #
T FH-H T qel 87

(@) (k+1)?p? =kq
(b) (k+1)%q=kp?
() k%g=(k+1)p?
(d k?p*=(k+1)*q

[P.T.O.
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11. Let m be a non-zero integer and n be a 16. If the sum of the roots of ax?+bx+c=0

positive integer. Let R be the remainder is equal to the sum of the squares of
obtained on dividing the polynomial their reciprocals, then which one of the
x™ +m" by (x-m). Then following relations is correct?
2, pa2_n,2
(a) R is a non-zero even integer (@) ab®+bc®=2a%¢
(b) R is odd, if m is odd (b) ac*+bc*=2b"q
() R=s? for some integer s, if n is (c) ab?+be?=ae
even

3 (d) a?+b?+ci=1
(d R=t° for some integer t, if 3

divides n 17. Consider the following statements in

respect of the expression
12. 1f4%2Y =128 and 3%*3%/- 9% = 0, then

nin+1)
the value of x + y can be equal to S = 5
(a 7 (b} 5 where n is an integer :
€ 3 (@ 1 1. There are exactly two values of
n for which S, = 861.
13. If the linear factors of ax? - (a? +1)x+a 2. 5,=S,,;) and hence for any
are p and g, then p+q is equal to integer m, we have two values of

n for which S, =m.
(@) (x-1){a+1) : :
Which of the above statements is/are

(b) (x+1)(a+1) correct?
€ (x-Dia-1) (@ 1 only
(b} 2 only
d +1)a-
(@ (x+1){a-1) {c) Both 1 and 2
14, If (d) Neither 1 nor 2
:4a+2b+Ja—2b 18. Consider the following statements in
Ja+2b-Ja-2b respect of two different non-zero

integers p and q :
then bx?-ax +b is equal to (given that gers q

1. For (p+q) to be less than (p-g),

b#0) q must be negative,

fa) 0 (b) 1 2. For(p+q)to be greater than ( p - g),

(c) ab (d) 2ab both p and q must be positive.
Which of the above statements is/are

15. If a® =117+ b> and a=3+b, then the correct?

value of a+b is (given that a> 0 and (a) 1 only

b>0) (b) 2 only

fa) 7 (b) 9 () Both 1 and 2

c) 11 (d) 13 {d) Neither 1 nor 2

B-ABPA-P-JRW/54A 4
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11. 77 ot m @ RR s MR n @

YAIE PiE 21 AR S R, WEw

X" +m® F (x-m) ¥ ol F0 wm

THA 8| T

(a) R T T FH F @

(b) RTam R, afe m fawm

(c) Trdl e s & foiq R=s? 2, 3R

16. 3 ax?+bx+c=0 F Wl H Mg, EEC

=g % i 3 e % aua 2, ) P
A § 4 PA-w T

(a) ab? + be? = 2a’c
(b) ac? + be? = 2b%a

{c) ab?+ be?= a’c

nge R (d) a?+b%+c%=1
(d) Tod wis ¢ & form R=1¢3 3, R 3,
n F1 fawifsr & 17.msn=m-f-ﬂ,aﬁn@tgﬁa€%.%
5 _
12. If2 4%9¥ = 128 3w 33%32¥_9W = 8, @ R 7 ffataa FaA w e i
x + y T A PR W R v 37 . n % @A @ WA g, e fag
@ 7 b) 5 S, = 8618
(c) 3 (d 1 2. Sy=S_(n,1) & N T TR R gl
m % T &an 9@ n %  7H 8, fEE
13. 9t ax? - (a? +1)x+a F WaFk PrEs i s, = m 2|
p ¥ qR, @ p+q e T 21 vl el B 3 A B/
(a) (x-1)(a+1l) () a9 1
(b) (x+1)(a+1) b) 2
fc) (x-1)(a-1) o 2
d (x+1)(a-1) () 12
(@ Fd1Aad2
14, I
x_Ja_+Tb+m5 18, 3 fafim Y@ TiF p ol ¢ F A W
~ Ja+2b-+Ja-2b frferftaa ol w fmm fifse .
2 @ bx?-ax+b e w27 (R 1. (p+q) % (p-q) & ¥ T ¥ f
2 b#0.) q FH B € =i
(a) © (b) 1 2. (p+q) ¥ (p-q) ¥ HiwF &1 & foy
(c) ab (d) 2ab p ¥R q 2t s B A At
FoA 1§ Q F9-11/8 T /27
15. 7R a3 =117+b63 M a=3+b % @ mﬁa / /
a+bF A ! (R 2 6 a> 0k (@ !
b>0) (b) Fae 2
(@ 7 (b) 9 () 1323
) 11 (d) 13 (d) Fd@1dmad2
B-ABPA-P-JRW/54A 5 [P.T. 0.
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19. 1 &-2- § then which of the following

b ¢
is/are correct?

, blec’vd®
C abipdecd a
2 a’+ b2+ 2 _a
© b2ic?id? d

Select the correct answer using the code
given below,

fa) 1 only

(b 2 only

{¢) Both 1 and 2
(d) Neither 1 nor 2

20. 719510 is divisible by

(@) S5
(b) 7
(c) 10
(@ 11

21. Let a two-digit number be k times the

sum of its digits. If the number formed
by interchanging the digits is m times
the sum of the digits, then the value of
m is

(a) 9-k

(b} 10-k

(c) 11-k

fd) k-1

22. A man walking at 5 km/hour noticed

that a 225m long train coming in
the opposite direction crossed him in
9 seconds. The speed of the train is

fa) 75 km/hour
(b) 80 km/hour
{e) 85 km/hour
(d} 90 km/hour

B-ABPA-P-JRW/54A

23. [

N o5 2 0\2
sin 35 ) : [CF’SSS J +2sin 30° is equal
cos55° sin35°

to

(@ -1
(b) O
() 1

@ 2

24. A cyclist moves non-stop from A to B, a

distance of 14 km, at a certain average
speed. If his average speed reduces by
1 km per hour, he takes 20 minutes
more to cover the same distance. The
original average speed of the cyclist is

(@) 5 km/hour
{b) 6 km/hour
{¢) 7 km/hour

(d) None of the above

25. If a sum of money at a certain rate of

simple interest per year doubles in
> years and at a different rate of simple
interest per year becomes three times in
12 years, then the difference in the two
rates of simple interest per year is

(a) 2%
(b) 3%

(c) 31%

d 41%

hitps://lwww.pygonline.com



19, 7R -0 - C 3 @ Pafuftea 3 @ F-m/d

b ¢ d
wd B2
| Blecded® d
' ad+bp3+cd a

a?+b?+c? a

Y pidial d

fr fou T g2 =1 W =W wE W R
(@) T 1

(b) HE 2

(c) 1323

(@ @ 1RAE2

20. 719_ 510 frER favr=a #7

fa) 5
(b) 7
(c) 10
(d 11

21. IH R @ & i w e AW AT F

Anhe 1 kT B1 AR H@N F S F AGE
¥ gee A o gEm o o % Aea )
m T 8, @ m & TH 87

(@) 9~k

(b) 10~k

(¢ 11-k

(d) k-1

22, T A A 5 fo o /a1 H =1 A TR Y

T ¥ favda fem & st g8 225 do ol
T t@E 30 9 Yk B UR Fh B W@
N =1 T 27

(@) 75 fHo o [z

(b) 80 Tko o /a1

(c) 85 TFo o /aa

(d) 90 f&o Ho/ua

B-ABPA-P-JRW/54A

 azon2 02
” (smssJ _(C_E?E.] +2sin30° T

0855
EGE
(@ -1
() 0
fc) 1
(d) 2

24, UF AEfFA 9® A ¥ BTF 14 fFo Ho @1

70 form w6 ws ffi s 96 @ 9w
21 gf2 3o fga = 1 feo e ulw e
4 Bt 8, @ 98 I g B w F fog
20 fire afis dm R 39 anfra = A
T sigd o1a 7 27

(@) 5 o Ho/az
(b) 6 o Hio/Hal
(¢) 7 o Hiojaz
(d) ¥ 4 A A

25. IR FR gl guro @ f R fRlm

affs g @ 5 gd 4 2 A R s
WURY A ) R 9 afiE T E 12 99
4 9 h g Sl R, A wEm = A
21 a1 20 o = AW 87

(a) 2%
(b) 3%

(c) 31%

1o
@ 41%

[P.T.O.
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26. Let ABC and A'B'C’ be two triangles

in which AB> A’B’, BC> B'C’ and
CA>C'A’. Let D, E and F be the mid-
points of the sides BC, CA and AB
respectively. Let D°, E’ and F’ be the
midpoints of the sides B’C’, C'A’ and
A'B’ respectively. Consider the following
statements

Statement 1 :

AD>A'D’, BE>B'E’' and CF>C'F’
are always true.

Statement 1 :
AB?+ BC?+ CA?
AD?+ BE? 4 CF2
A'B?:BC?icA?
T AD2 PR COR?

Which one of the following is correct in
respect of the above statements?

(a) Both Statement I and Statement II
are true and Statement Il is the
correct explanation of Statement 1

(b) Both Statement I and Statement 1
are true but Statement Il is not the
correct explanation of Statement |

(c) Statement I is true but Statement II
is false

(d) Statement s false but Statement II
is true

27. The annual incomes of two persons are

in the ratio 9 : 7 and their expenses are
in the ratio 4 : 3. If each of them saves
¥ 2,000 per year, what is the difference
in their annual incomes?

(a) ¥ 4,000
(b) ¥ 4,500
(¢) ¥ 5,000
(d) ¥ 5,500

B-ABPA-P-JRW /54A

28. Let S be a set of first fourteen natural

numbers. The possible number of pairs
(a, b), where a, be S and a+#b such

that ab leaves remainder 1 when
divided by 15, is

(@) 3
(b) 5
(c) 6

(d) None of the above

29. A clock strikes once at 1 o’clock, twice at

2 o’clock and thrice at 3 o'clock, and
so on. If it takes 8 seconds to strike at
S o'clock, the time taken by it to strike
at 10 o'clock is

{a) 14 seconds
(b) 16 seconds
c) 18 seconds

fd) None of the above

30. In a circle of radius 2 units, a diameter

AB intersects a chord of length 2 units
perpendicularly at P. If AP > BP, then
AP is equal to

(@) (2++5) units
(b} (2++/3) units
(¢} (2++2) units

([d) 3 units

https://www.pygonline.com



26. WA #lifsiy ABC ¥R A’B'C’ @ fys €, fd

AB> A’B’, BC> B'C’ 3R CA>CA’ %I
uH it D, £ 3R F#09: &sil BC, CA
#R AB % mey-fag B | W ity D', B’ 3R
F’ #99: {3l B'C, CA’ 3R A'B %
mg-firg B Fmfofaa Fei w fem A
YA ] ¢

AD> A'D’, BE>BE’ 3 CF>CF’
TR el B
FYq 1] =

AB?; BC? + cA2
AD?%+ BE2 4+ CF?

_A'B24BC? A
A'D?+ BE?+CF?

i o ¥ e Pt @ AW
i 27

(@ FF 1 A FE 1A W R oA
A 11, 7 1 ) 98 =reT R

(b) FaA 1 M FH 1 W FF B AR
Fo 11, F99 1 ) 98 e 76 @

(c) FF 18 R Wl FoA 11 376 2

(d) FU 1 G ¢ O FF 11 93 2

27. @ =fwdl B aifies 3@ 0.7 & aggE § 2

AT T 4:3F wqwa § ) Ak IR
yels =fh & 2,000 Ufd 9 9 8, @ R
i ma | w0 i 87

(@ ¥ 4,000
(b) ¥ 4,500
(c) ¥ 5,000
(d) ¥ 5,500

B-ABPA-P-JRW/54A

28. WA T S vEa Hiee YR Uil 1 UE we

21 T (q, b) F wwifa gen ;= R, @
a, be S a#b W UFR fF ab #1157
faiom # W %a 1 @ 87

(a) 3
(b) S
fc) 6

(d) IFH U A S

29, TF H9 1 999 T TF I1 F91 ¢, 2 9 W 3

AR A1 B, 3 T W AH A ot § o g
FH U o9l @l £ 9% 5 99 ¥g a9 A
8 ¥&he odl 2, a1 10 &9 30 doW H TRam
qua o 27

(@) 14 9%
(b) 16 ¥HS
(c) 18 BFe
(d) I9E H | F1§ 7

30. 2 @@ i 99 w99 § W AB, 2 TR

o S N p W e Tawefa wa R
afe AP > BP, @ AP foras s 37

(@) (2++5)FHE
(b) (2+3) FFR
(e) (2++2) T
(d) 3

[P.T.O.
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31. Under what condition on p and g, one of 34. Consider the following statements :

. 2 _
the roots of the equation x“+ px+g=0 1. Every natural number is a real

is the square of the other? number,

2. Every real number is a rational

(@ 1+q+q* =3pq
number.

3. Every integer is a real number.
(b) 1+p+p*=3pq '
4. Every rational number is a real
) ) number,
(] p +q+q” =3pq
Which of the above statements are

) correct?

3.

(@) q”+p+p°=3pg (@ 1,2 and 3
(b) 1, 3 and 4

32. What is the maximum value of m, if
the number N=90x42x324x55 is (c) 2 and 3 only

ook m
divisible by 3™? (d) 3 and 4 only

(@) 8 35. For what value of k is (x + 1) a factor of
(b) 7 x3+kx2—x+2?

(C,J 6 (G) 4

(d 5 ) 3

33. A bike consumes 20 mL of petrol per @1
kilometre, if it is driven at a speed in the {d) -2
range of 25-50 km/hour and consumes
40 mL of petrol per kilometre at any

i 36. Consider the following statements :
other speed. How much petrol is

consumed by the bike in travelling a 1. There exists a positive re]::ll number

distance of 50 km, if the bike is driven m such that cosx =2""".

at a speed of 40 km/hour for the 2. mn>m+n for all m, n belonging to

first 10 km, at a speed of 60 km/hour set of natural numbers.

for the next 30 km and at a speed of _ _

30 km/hour for the last 10 km? Which of the above statements is/are
correct?

fag 1L
fa) 1 only

b) 12L

) {b) 2 only

fc) 14 L ¢/ Both 1 and 2

(d 16L (d} Neither 1 nor 2

B-ABPA-P-JRW /54A 10
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31.Wx2+px-|-q=0%ﬁﬂﬁﬁ§}ﬁq\ﬂ 34. frefafs s o faaw fifs

& i A9 F g p o ¢ Brm wfeaw % oz 1. YOUF U9 QN U ardies ge gl 2
i 2. YeE arkifas e U G g wd)
(@ 1+q+q° =3pq @

3. O i U et g il 2|

(b) 1+p+p?=3pq { o
4. 9EF UREY G UF Srdids 9 A

€ p*+q+q° =3pg 2
@ a®+p+p?=3pq I Forl § B FR-Y T R
(@) 1,233
32. IR TN N=90x42x324x55 3™ (b) 1,3 3N 4
fawr=a &, @ m %1 Alvwan 7 727 o 2 o3
(a) 8 (d) Fad 3 3R 4
(b) 7
0 6 35. k% TR 7R & A0 (x+ 1), xP 4 dc® - x 42
(@ 5 i e
(a) 4
33. % HRWEAG # 25-50 fRe Ho/um & (b) 3
yi ¥ frdft =i & 9 91 w20 fHe fde () 1
W vf feniier § @m i @ o frd @ -2

¥ 9 A Fa0 w1 W 40 fio fHe e
fa frcdndfie 6 @ B 21 AR SeEEiEd

T 10 Fro o & 40 Fro Mo /a7 A T 36. frmfafaa wea w fomm il

3, 9 30 o Mo # 60 fio o /i A L T IO SR e m H A

=1a @ iR aifm 10 fFe e # 30 fFo o/ 70 TET 2 R cosx = 2™ ! ¥

9 A 9 A TR I g, A AR 2. mnzm+n, & WA m, n 93 PrH F

g1 50 fhe flo il gl T F1 # frm g T % 9eH B

£ @ud arft? ,

e woA § | FH-A1/8 7 2R

(@) 110 (@) ¥ 1

(b) 12 fae (b) ¥ 2

(c) 14 fa0 (c) 1323

(d) 16 fae (@ Fd 1A 2
B-ABPA-P-JRW/54A 11 [P.T.O.
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37. The solution of the inequation 41, Consider the following in respect of

1 1 natural numbers a, b and ¢ :
14—~ —_— =0
X x2 1. LCM(ab, ac)=a LCM(b, c)
is ( given that x #0) 2. HCF(ab, ac)=a HCF(b, ¢)
faj x>0 3. HCF{aq, b)<LCM(a, b)
(b) x<0 4. HCF(q b) divides LCM(a, b).
1-45 1445 Which of the above are correct?
(c) <x<
2 2
(al 1 and 2 only
I B 1445
(d) xs y T XE (b) 3 and 4 only

. , (¢ 1,2 and 4 only
38. Which of the points P(5, - 1), Q(3, -2)

and R(1, 1} lie in the solution of the (d 1,2, 3 and 4

system of inequations x+y<4 and

X-y=z27 42. There are three brothers. The sums of
(@) Q and R only ages of two of them at a time are

4 years, 6 years and 8 years. The age

{b) P and R only difference between the eldest and the

(¢) P and Q only youngest is
(@ P, Qand R (a) 3 years
39. A passenger train takes 1 hour less for {b) 4 years

a journey of 120 km, if its speed is

increased by 10 km/hour from its usual (c) S years

speed. What is its usual speed? (d) 6 years

() 50 km/hour

(b) 40 km/hour 43. A person goes to a market between
4 p.m. and 5 p.m. When he comes back,

fc) 35 km/hour he finds that the hour hand and

(d) 30 km/hour the minute hand of the clock have
interchanged their positions. For how

40. The value of k, for which the system much time (approximately} was he out

of equations 3x-ky-20=0 and of his house?

6x - 10y +40 = 0 has no solution, is
faj 5538 minutes

(a 10

(b) 6 (b) 5548 minutes

(¢) 5 fc) S5:57 minutes

[d 3 (d} 5567 minutes

B-ABPA-P-JRW/54A 12
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37. sl 1+-1-——1520?51 7 w1 87 (fen

X x
W%%x-ﬁo.)
fa) x>0
{b) x=<0
() EPPSREA T
2 2

14
(d) x::.—-a---?ﬂ Xz-

38. fag#l P(S, —1), Q(3, -2) R R(1, 1) ¥

@ﬁ?—ﬂﬁgmﬁmx+ys43ﬁ7§
x-y227% 8 A A9 87

(a) Fa@ Q 3R

(b) Faet PR R

(c) Fad P3N Q

(d) P, QMR

39. % T @M 120 fRe e amn % forw 1 =9

F T o g, A 3 9 e T
10 fre Ho/Fa1 aer widl ¥ @A wEA
el I R7

(@) 50 o Ho/uz
(b) 40 o o /aa
(c) 35 o o /e
(d) 30 ko e /m1

40. k #1 4z "r, Toes fou wfiwwm e

3x~ky-20=0 3N 6x-10y+40=0 &
F§ 7 e 8, 787

fa) 10

(b) 6

fc) S

(@) 3

B-ABPA-P-JRW/54A
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41,

e a, b AR ¢ F Tau Fafafas w fa=9n
i .

1. LCM(ab, ac)=aLCM(b, )

HCF (ab, ac)=aHCF(b, c)

HCF(a, b)<LCM(a, b)

HCF(q, b), LCM(a, b) # fawfsa
& 2l

IR A B FA-H T R

(a) FaE 1 3N 2

(b) Fad 3 ¥ 4

(c) FF@ 1, 2 A4

d 1,2, 334

el

42. 97 g &) Pl omm w6 A R A

ATHe 4 =, 6 9§ AR 8 I B| Hed 43 M
a0 B A AR F AR T 87

@) 3T
(b) 4ad
fc) 5 4

(@ 6

43. TF AfF G4 4 99 § @ 5 99 & #9 aEn

11 B S 98 G99 v @, a4 98 urdn &
udl § 92 ) g3 oin fime Hi @ f Bl
AT H ged T 3| 9% Feas @@ (dmem) F
v m A st

(@) 5538 fFz
(b) 5548 fire
(¢) 5557 fofe
(d) 5567 fre

(P.T.O.
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44. In a gathering of 100 people, 70 of them

can speak Hindi, 60 can speak English
and 30 can speak French. Further, 30
of them can speak both Hindi and
English, 20 can speak both Hindi and
French. If x is the number of people
who can speak both English and
French, then which one of the following
is correct? (Assume that everyone can
speak at least one of the three
languages.)

fa) 9<x<30

(b) 0<x<8

fc) x=9

{d x=8

45. A cloth merchant buys cloth from a

weaver and cheats him by using a scale
which is 10 ¢m longer than a normal
metre scale. He claims to sell cloth at
the cost price to his customers, but
while selling uses a scale which is
10 ¢cm shorter than a normal metre
scale. What is his gain?

(@) 20%

(b) 21%

2
c)] 22—%
(c) 5

1
d) 23—=%
(d) 3

B-ABPA-P-JRW/54A
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46. Two pipes A and B can fill a tank

in 60 minutes and 75 minutes
respectively. There is also an outlet C
If A, B and C are opened together, the
tank is full in 50 minutes. How much
time will be taken by C to empty the full
tank?

(a) 100 minutes
() 110 minutes
(c) 120 minutes

(d) 125 minutes

47. In a race of 1000 m, A beats Bby 100 m

or 10 seconds. If they start a race of
1000 m simultaneously from the same
point and if B gets injured after running
50 m less than half the race length and
due to which his speed gets halved, then
by how much time will A beat B?

{a)] 65 seconds
{b) 60 seconds
{¢) 50 seconds

(d) 45 seconds

48. The salary of a person is increased by

10% of his original salary. But he
received the same amount even after
increment. What is the percentage of his
salary he did not receive?

(@) 11%
(b) 10%
f¢) (100 /11)%

(d) (90 /11)%
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44. 100 ARFE F TF WE 21 FW @ 70 Afh

i e o ¥, 60 Ak ST e wEa &
3R 30 =fF F2 9 T 21 38 WY &,
I @ 30 =fw =) o 20sh 9l St waa
£ e 20 =3 B ok e 9N e wd B
R x 3 ARE $ g § S Rl o e
A A TR §, @ EfaiEd ¥ 8 FR-
w w2 (wr ot 6 gde e
wa § A FH-R-F T 9T A 99 o)

(@) 9<x<30
() 0<x<8

fc) x=9

]
oo

(d x

45. T 92 F1 ANH TR 4 FUe Tl ¢ 3R

W Wit A ® 10 Yo Hio Fell WO
T g F) NG 3 R) 98 A e
+ A ed W FIEl a9 gl Hl B,
A a0 w T Al e R R
R Wet e @10 Wo Ho B R IR
RICE RS

(@) 20%

b 21%

(c) 22% %

(d) 23 ; %

B-ABPA-P-JRW/54A
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46. T A 3 B 5 7 = wHm: 60 e

3R 75 i 3w wd 81 W& fem ot R
R A, B ¥R C wFEM gia few s, @
50 fime & welt 21 9l 2R | C 3 @l
F 1 e g9 |@im?

(@ 100 f2
(b) 110 fe
fc) 120 fimz
(d) 125 R

47, 1000 Ho @&l T A8 H A, BH 100 Ho @

10 8% 4 &1 21 IR 3 @ @ wa A
1000 Hio #) 418 THIY ARV 4 § AN AR
B A ) Far F 2 A 50 Mo F4 dF dreA
¥ ugr 9P B W g, feE FwRe 3w
91 2 A S R, D A, B R g9 R
Baw?

(@) 65 #FE
(b) 60 BFE
(c) 50 8F2
(d) 45 8%

48. T AT F 97 § g 9 Hl 10% Iha F A

T A 3 9 % 9w off 3 AT A 3T
€ aft ww g1 38 A 9em H Bred gl
aftr wm i g

(@ 11%
(b} 10%
¢ (100/11)%

(d) (90/11)%

[P.T. 0.
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49. A truck moves along a circular path and

describes 100 m when it has traced out
36° at the centre. The radius of the
circle is equal to

@ X
n

B = m
Fif

(0 500 m
bid

@ Xm
n

50. Two poles are placed at P and Q on either

side of a road such that the line joining
P and Qis perpendicular to the length of
the road. A person moves x metre away
from P parallel to the road and places
another pole at R. Then the person
moves further x metre in the same
direction and turns and moves a
distance y metre away from the road
perpendicularly, where he finds himself,
Q and R on the same line. The distance
between P and Q (i.e., the width of the
road) in metre is

{a) x

(b)

b | =

fc) y

(d)

B-ABPA-P-JRW/54A
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51.

Ar

P-

Suppose chords AB and CD of a circle
intersect at a point P inside the circle.
Two right-angled triangles A’P'B’ and
C’'Q’'D’" are formed as shown in the
figures below such that A'P’ = AP,
B'P'=BP, C'Q"=CP, D'Q'=DP and
ZA'P'B =90°=2C'Q'D’ :

AN © 4 Q’ b’

Which of the following statements are
not correct?

1. A'P'B" and C'Q'D’ are similar
triangles, but need not be
congruent,

2. A’P'B’ and C’'Q’'D’ are congruent
triangles.

3. A'P'B’ and C'Q’'D’ are triangles of
same area.

4. A’P'B’ and C’'Q’D’ are triangles of
same perimeter,

Select the correct answer using the code
given below.

(a) 2 and 3 only

(b) 1 and 3 only
(¢/ 1,2 and 4 only
(d) 1,2, 3 and 4

https://www.pyqgonline.com



49. TF & JA9 9Y W Iad T FE W 36°

FqfEd FA W 100 o f g T Far 2
g1 ) B s w7

100 Mo

(a)

(d)

n

50. 3 @ UF HEF F H TR W P QW

W YFER T 9§ B P s 0 # fiem
aeft Ya Hew ) dEE W oOd A 2w
Wﬁm%ﬂﬂﬂ?Pﬁxm?m%
AR UF A W R W A B | TE 9T 98
=fts i famm # x et ggH 8 T ? 3
TeF % oad y M $ gl ™ H=a ¢, T
FUMeFREE, QM RBE AW W
gl pan Q% 9= A gl (wufq wew 6
e i A w1 27

(a)

ko

(b)

[ SRS

fc) y

{d) 2y

B-ABPA-P-JRW/54A

51, A1 efifoe w g9 fi Sl AB $ CD 91 F
s fag p w wfaede &t &1 @ wwwm
tm AP’ R C'Qop R R %
FEN W YER T & 6 AP’ = AP,
B'P'=BP, C'Q’=CP, D'Q'=DP 3
ZA'P'B =90°P= /C'Q'D' §

P
o
I4s B’ Q’L D’
frefetfiaa ol 3 & $-8 o 7 87
1. A'P'B 3R C'Q'D’ |uEy Riyd ® @
ey ¢ & wafmem @)
2. A’P'B ¥R C'Q'D’ waEmTER e g
3. A'P'B ¥R C'Q’D’ N &% &
s 21
4. A'P'B ¥R C'Q'D’ wuA o % B
d
Fr3 e U g2 A s g
() FFa 2 3R 3
(b) Fad 13N 3
() Fad 1, 234
(d) 1,2, 334
17 [P.T.O.
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52. Suppose ABCis a triangle with AB of unit
length, D and E are the points lying on
AB and AC respectively such that BC
and DE are parallel. If the area of
triangle ABC is twice the area of triangle
ADE, then the length of AD is

(a) 51 unit
(b) % unit
(c)

(d)

53. A rhombus is formed by joining
midpoints of the sides of a rectangle in
the suitable order. If the area of the
rhombus is 2 square units, then the
area of the rectangle is
(@) 242 square units
(b} 4 square units

(c) 442 square units

{d) 8 square units

54. If each interior angle of a regular polygon
is 140°, then the number of vertices of
the polygon is equal to
faj 10
(b) 9
fc) 8

(d 7

B-ABPA-P-JRW/54A

55. Let the triangles ABC and DEF be such
that ZABC = ZDEF, /ACB= /DFE and
£ZBAC= ZEDF. Let L be the midpoint of
BC and M be the midpoint of EF.
Consider the following statements :

Statement [ :
Triangles ABL and DEM are similar.
Statement I :

Triangle ALC is congruent to triangle
DMF even if AC+# DF.

Which one of the following is correct in
respect of the above statements?

{a) Both Statement I and Statement Il

are true and Statement II is the
correct explanation of Statement I

(b) Both Statement | and Statement II
are true but Statement Il is not the
correct explanation of Statement 1

(c) Statementlis true but Statement II
is false

({d) Statement I is false but Statement II
is true

56. The number of rounds that a wheel
of diameter 7/11 metre will make in
traversing 4 km will be

fa) 500
(b} 1000
(c) 1700

(d) 2000
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52. WA ofifqe 7 ABC wh iy &, fyed AB )
a1 U g 21 D @ E %Y AB W AC
R 3 ¥R fid fagd & % BC it DE w9t
21 aft fvmr ABC #1 &a, Bigw ADE %
&% 1 4 T 8, @ AD i aas 1 20

53. UF WA #l YA * wea-fogaH F F 397
1 1 TR UF AT = S 2| A
g 1 4TEA 2 a1 TS B, A A F
REE & 27

(a) 22 1 &
(b) 4 T
(c) 42 T T
(d) 8 T
54, af TH @H agYT F TAF HGH0 140° 2,
TR & Il A e T aue 87
(@ 10
(b) 9
fc) 8

(@) 7

B-ABPA-P-JRW/54A

55. "M @it % B ABC 3R fse DEF 3@
¥&R 8 T ZABC = ZDEF, ZACB = £DFE
¥R /BAC = ZEDF 8| WA #ifsiy L, BC =
w-fig @ dn M, EF w1 ma-fag R
freferfiaa ol w famm fifde

RN

fiqa ABL 3R fays DEM wes £

EX BN |

e ALC, s DMF % wafmm 2, @@ +f),
s AC # DF ?1

g Fel % fay Feafafias 4 @ 29w o
w87

(@) F4 1 3 FA I oF @9 § R
FoM 11, %A | ) 78 v @

(b) FU 1 X & 1 I w2 Al
F 11, FF | F) T8 AT T

(cj FY7 1% & A F9 1] 39 ¢

(d) FU 1 38 & AR Fo 11 5 ©

56. 7/11 Hiet =@ F % ufew gr 4 o o A
M T FA R AT FE f g w/
erit?

(a) 500
(b) 1000

{c/ 1700

(d) 2000

(P.T.O.
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57. The base of an isosceles triangle is
300 units and each of its equal sides is
170 units. Then the area of the triangle
is

fa) 9600 square units
(b) 10000 square units
¢/ 12000 square units
{d) None of the above

58. Four equal discs are placed such that
each one touches two others. If the area
of empty space enclosed by them is

150/847 square centimetre, then the
radius of each disc is equal to

fa] 7/6 cm
(b) 5/6 cm
fe) 1/2 cm
() 5/11 cm
59. ABCand DEF are similar triangles. If the
ratio of side AB to side DE is

(v¥2 +1):4/3, then the ratio of area of
triangle ABC to that of triangle DEF is

fa) (3-242):3

(b) (9-642):2
) 1:(9-642)
(d) (3+22):2

60. A tangent is drawn from an external
point O to a circle of radius 3 units at
P such that OP =4 units. If C is the
centre of the circle, then the sine of the
angle COP is

fa) 4/5
(b) 3/4
() 3/5
(d) 1/2

B-ABPA-P-JRW/54A
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61. A square is inscribed in a right-angled
triangle with legs p and g, and has a
common right angle with the triangle.
The diagonal of the square is given by

P4
a) ———
(@) D100
m) P9
2p+q
2
. V2pg
Ptq
(d 2pgq
ptq
62. If - Ytane=1 and Ztan6+Y = 1, then
a b a b
2 2
the value of X +y—r is
(12 b‘!
(@) 2sec?d (b) sec?®
{c) cos? 0 {d) 2cos? 8

63. Consider the following :

1. 1-cosb = cosechH ~cotb
1+cosH

2. 1+cosb = cosecB +coth
1-cosB

Which of the above is/are identity/
identities?

(a)
(b) 2 only

1 only

(¢/ Both 1 and 2

(d) Neither 1 nor 2

https://www.pygonline.com



57. et wmfiag fom &1 anum 300 @ R 61. p ¥R g ST A T THPW B §

TH WA el § ¥ YA F e e dien s @1 Py w1 wwe, ol @
170 318 2| B 1 &t = 27 w oft 81 9 & Tl fopass aoem 27
(@) 9600 T TS -
(b) 10000 &7 §1§ o p+2q
fe) 12000 T TFR oq
R EEE L ® pea
58. WX WWM dEFIS F W YER W@l ¢ o Y2Pa
TAF TlHH! Q1 37 AHHIA B T Fdl B p+q
e % g0 TRag f wWR w1 fEawd 2pg
150/847 & Bo Ho B, @ TRF e A (d) pia
forem fors R 27
(a) 7/6 Bo Ho
{b} 5/6'%0-;'[19 62. ﬂﬁg—%mn9=13ﬁigtanﬁ+g—1%,?ﬁ
(c) 1/2 %o o ﬁ»ri"ﬂmw%?
d 5/11 %0 o a* b?
59. ABC 3t DEF wwey e ¥1 3R ¥=1 AB (@) 2sec” 6 (b) sec?®

R W1 DE #1 3gE (V2 +1):43 §, @

29 d) 2cos?®
Ps ABC % &%a %1 s DEF % &a%dl fe) cos (d) 2cos
A 71 1 B
(@ (3-2J2):3 63. fFrefafaas w fa=m Hifse .
b 19-6.2):2 1L 1zcos®  osect -coto
(c) 1:[9'6‘5) 1+cos@
(d) (3+242):2 , [
1-cosB

60. 3FR A M F W & fag PR = 7@ *
g 03 @ we-ta @ w2 ST A Q -6 v w8/
For-amRA R TR Cr, @

FN COP 1 sine F1 &7 (@) F9E 1

fa) 445 (b) a2

o () 1 3R 25H

() 3/5

@ 1/2 (d) @ 13AA 2
B-ABPA-P-JRW/54A 21 1o
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64. If p=cotb+tan® and gq=sech-cosb,

then [;;?'q}g —(r;r:;"p)fig is equal to
faj 0
(b) 1
(c) 2
(d) 3

65. Two observers are stationed due north of

66.

a tower (of height x metre) at a distance
y metre from each other. The angles of
elevation of the tower observed by them
are 30° and 45° respectively. Then x /y
is equal to

V2-1

“

2
J341
2
(d] 1

If

(c)

c0s2 0 - 3cosh +2 _

1
sin” 0

where 0<B<g-, then which of the

following statements is/are correct?

1. There are two values of 8 satisfying
the above equation.

2. B8=60" is satisfied by the above
equation.

Select the correct answer using the code
given below.

{a) 1 only

(b) 2 only

(¢ Both 1 and 2
(d} Neither 1 nor 2

B-ABPA-P-JRW/54A

67. In atriangle ABCif A- B= %, then C+2B

is equal to
@ =
w2
¢ =
@ 3

68. Which of the following 1is correct

in respect of the equation
3-tan? 0 =c(1-3tan? 8)? (Given that

o is a real number.)

1
(a) ae[g, 3]
1
(b) ae[—m, 5}u[s, )

(c) ae[—m, ]u[S, eo)

!
3

(d} None of the above

69. There are five lines in a plane, no two

of which are parallel. The maximum
number of points in which they can
intersect is

(@) 4
(b) 6
fc) 10

(d) None of the above

https://www.pyqonline.com



64. Il p =cotb +tanb N q = secB —-cosH z,
A (p2q)° - (g% p)} Fres T ¥
(@) 0
(b 1
fc) 2
{d@ 3

65. @ Ju% wF WAR (x Wt I & I T A
TH-gR ¥ y {2t A gl Wl §1 3 Nl
g0 Wid WAR & IEE S 30° 3R
45° 31 @ x / y Toross s 7

o 21

(b)

cos® 8- 3cos8+2 _
sin2 9
aaﬁ:o‘:mg%,a’tﬁnﬁﬁaaﬁaﬁﬁﬁ
FH-W/8 e 2R

1. 39 HHIEW ) WGP FA 91, 6 %
qH 21

2. 6 =60° I wHEw § HE R
4 fo T %z 1 WM w9 W g
(@) Fad 1

(b) I 2

{c) 13 2TH

[d 3@ 1IMAE 2

B-ABPA-P-JRW/54A

67. U s ABcﬁtrﬁA—.e;:;%,a‘l C+2B

T T 87

(@)

w|¥

m =

fcf n

(d)

oA

68. fmfafas # & =H-w, wHww

3—tan28=a(1—31angﬁ) % a0 ad
27 (e mn 2 T o Trafam ww@n )

(a) ae[é, 3}
(b) ae(—m, %‘.‘U[& oo}
fc) ae[—w, é]u[(ﬂ, ca)

(d) I H ] FIE

69. UF woad § = @ B, frd @ # f @

w7 €1 3 fagedl A, fm w A wieede
T HEA §, AHIH GEI ¥+ 87

fa) 4
(b) 6
(c) 10

(d) IF A A HHE A

[P.T.O.
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70. Consider a circle with centre at O and

radius 7 cm. Let QR be a chord of length

2 cm and let P be the midpoint of OR.

Let CD be another chord of this circle

passing through P such that ZCPQ

is acute. If M is the midpoint of CD
and MP =424 cm, then which of the
following statements are correct?

1. ZQPD=135%

2. IfCP=mcmand PD = ncm, thenm
and n are the roots of the quadratic
equation x2-10x+1=0.,

3. The ratio of the area of triangle OPR
to the area of triangle OMP is 1: 24/2.

Select the correct answer using the code
given below.

fa) 1 and 2 only
(b} 2 and 3 only
(c) 1 and 3 only
{d 1,2 and 3

71. Let ABC be a triangle in which AB= AC.

Let L be the locus of points X inside or
on the ftriangle such that BX = CX.
Which of the following statements are
correct?

1. L is a straight line passing through
A and in-centre of triangle ABC is
on L.

2. L is a straight line passing through
A and orthocentre of triangle ABC
is a point on L.

3. L is a straight line passing through
A and centroid of triangle ABCis a
point on L.

Select the correct answer using the code
given below.

(a] 1 and 2 only
(b} 2 and 3 only
{e) 1 and 3 only
(dj 1,2 and 3

B-ABPA-P-~JRW/54A

24

72. Consider a circle with centre at C. Let OP,

OQ denote respectively the tangents
to the circle drawn from a point O
outside the circle. Let R be a point on OP
and S be a point on OQ such that
ORxSQ=0SxRP. Which of the
following statements is/are correct?

1. If X is the circle with centre at O
and radius OR, and Y is the circle
with centre at O and radius OS,
then X =Y,

2, ZPOC+ ZQC0O =90

Select the correct answer using the code
given below,

fa) 1 only
(b} 2 only
fc) Both 1 and 2

(d} Neither 1 nor 2

73. If m and n are distinct natural numbers,

then which of the following is/are
integer/integers?

m n
1. —+—
n om
m mn
2. nm(—+—W[mz+ng]}
\n  m)
mn
3. — %
m* +n

Select the correct answer using the code
given below.

(a} 1 and 2
(b) 2 only
{c) 2 and 3

(d) 3 only
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70. %2 0 3 7 "o Ho fsm & W& g4 w fqmm

ffw) W difT OR, 2 o Ho el

sfan 2 i 7@ i P, QR w1 me-fig R

M e cp o R, P A T

ardl, wF = S 3 vER 2 R 2cPo

FEm 2 Al M, cp w1 ne-fig @ e

MP:x@@OmO%,?ﬁﬁﬂiﬁiﬁﬂHEﬁﬁﬁ

B FH-8 7 7

1. ZQPD=135°

2. AR CP=mFo Ho 3 PD = n Ao o
%, @ m ¥ on Tggm wliEw
x2—10x+1=03f5"1§l%I

3. Bye OPR % dawa =1 fBym omp %
ST B Y 1: 242 R

19 Ry g w1 W R w9 I gy
(a) Fad 1 3 2
(b) Fad 2 3N 3
(c) Fad 13 3
(d) 1,233

71. WA i ABC & B }, T AB=AC

21w e fagadt X 1, <0 6 B % o=

71 fie w38 AR § fF Bx = cx %, faguy

L ?| Frafaflaa wu9i # 8 299 9 27

1. L, A% TEE 9l O o @ g e
v ABC 1 SR LR

2. L, AR TFE al T wWe @ R el
B[S ABC %1 @z LW UF fag 2|

3. L, A8 T d UF wWa @R ek
s ABC 1 F5% LR U fag 21

F few T g2 F:1 W@ F D I g
(a) Fad 1 32
(b) Faa 2 3N 3
(c) @133
(d) 1,233

B-ABPA-P-JRW/54A

72. %2 C 90 @ g0 W fran Aifs) 7w i

OP, OQ #RY: g0 % @@ fag 0 @ F9 W
@it Tt -t §) 9\ it R, 0P W
0% fag @R S, 00 W v fig 3w wam & 5
ORx SQ = 0Sx RP 2| fmfetfiag =edi @ @
FH-H1/2 a9 ¢/87

1. 3l x, ¥z 0 i fisn OR %199 & au
Y, 2 0 ¥R fism os #1 9w 3, 4
X=Y?l

2. ZPOC+ £QCO = 9(F

A g T 2 1 A F A I g
(a) FaE 1

(b) Fa@ 2

(c) 1 3R 22H

(d A@1dAAE 2

73. afe m 3R nﬁﬁﬂ?{“ﬁ?%,?ﬁﬁﬂﬁmﬁﬁ

A FH-91/8 qiE 2787

m n
1, —+—

n m

2. mn[ﬂ+£){m2+n2)1
n o m

mn

m2+n2

3.

4 faq me g2 =1 wam = wE IR g
(@) 1 32
(b) FAA 2
(c) 233
(d) Fad 3

[P.T.O.
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74. Outside a meeting room, Madhukar was

told by a person that each meeting
takes place after 13/4 hours. The last
meeting has been over just 45 minutes
ago and the next meeting will take place
at 2 p.m. At what time did Madhukar
receive this information?

{a) 10:20 a.m.

() 11:30 a.m.

{¢) 11:40 a.m,

{d} 11:50 a.m.

75. The expenditure of a household for a

certain month is ¥ 20,000, out of which
¥ 8,000 is spent on education, ¥ 5,900
on food, ¥ 2,800 on shopping and the
rest on personal care. What percentage
of expenditure is spent on personal
care?

(a) 12%

(b) 16:5%

(c) 18%

(d 21:8%

B-ABPA-P-JRW/54A
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76.

7.

78,

If

where x, y and z are natural numbers,
then what is z equal to?

(@) 1 (b) 2
fc) 3 (d) 4
A circular path is made from two

concentric circular rings in such a way
that the smaller ring when allowed to
roll over the circumference of the bigger
ring, it takes three full revolutions.
If the area of the pathway is equal to
n times the area of the smaller ring, then
n is equal to

@ 4
() 8

(b) 6
(d 10

Consider the following statements :

1. If n23 and m=3 are distinct
positive integers, then the sum of
the exterior angles of a regular
polygon of m sides is different from
the sum of the exterior angles of a
regular polygon of n sides.

2. Let m, n be integers such that
m>nz3. Then the sum of the
interior angles of a regular polygon
of m sides is greater than the
sum of the interior angles of a
regular polygon of n sides, and their

: n
sum is (m+n)—.

Which of the above statements is/are
correct?

(a) 1 only

(b) 2 only

fc) Both 1 and 2
(d) Neither 1 nor 2
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74, W FH F AR T ARG 4 WYH H daw 76. 4l

Yo% 8% 13/4 94 F @A w6 21 fedd 61 5, 1

3% &% 45 fime wed @ ww g @ ol 19 -, 1

Well 43% TG 2 99 qPf | WY B T g+

e e v g st °
el x, y 3N z 97 g 2, @ 2z Fews aua
27

(a) 10:20 TG (a) 1 (b) 2
0 3 (@ 4

(b) 11:30 TB 77. TF A1 94 QA THE I T4 B 39 TER 991

t 5 98 or Tem A R gm H iy w
YA S R, @ 98 QA e = R

(c) 11:40 g aft art w1 dawd, O T ¥ dwd @
n AR, @ n s T 27

(d) 11:50 @fg (a) 4 (b) 6
(c) 8 (d) 10

78. Fr=fafad wud @ fa=r fifsu .

1. AR n23 ¥ m>3 Bm umom gl
g, @ m e T T WO

75. TF W F el fasis wéh o =3 @ 20,000 2, afewrvl F ATEA, o Y T T
fored @ fran w2 8,000, @R W € 5,900, 9 RS F Sen & Aee § fir
@il 71 ¥ 2,800 3R 39 ARFT T@IH T 2
= FC Rl Fa A9 1 fEam wfwd s 2. WA AR m, n PiE @ R
AT TG W g3l 27 m>n23 @ m YAA aqd & @

TGYS F AAAN H ATHA, n A
A TF G9 qRYS F A F A

@ 12% B wiuF 2 ol I e (mi—n]-;E
2l
(b) 16:5% .
I FOH B B FH-T/E gD /A7
fa) Fad 1
(c) 18% ) e 2
fc) 13 22H
([d 218% (@) A1 AAE 2
B-ABPA-P-JRW/54A 27 [P.T.0.
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79. Consider the following statements : 82. A person travels 7 km eastwards and

1. There exists a regular polygon then turns r1gh.t and travels 3 km and
whose exterior angle is 70°. further turns right and travels 13 km,

What is the shortest distance of the
present position of the person from his
starting point?

2. Let n25. Then the exterior angle
of any regular polygon of n sides

is acute.
(@) 6 km
Which of the above statements is/are
(b 35 km
correct?
@ 1 onl {c) 7 km
a on
Y (d) 45 km
{bj 2 only

83. ABC is a triangle in which D is the

midpoint of BC and E is the midpoint
(d) Neither 1 nor 2 of AD, Which of the following statements
is/are correct?

fc) Both 1 and 2

80. In a triangle PQR, point X is on PQ
and point Y is on PR such
that XP=1-5 units, XO =6 units,

1. The area of triangle ABC is equal to
four times the area of triangle BED.

PY =2 units and YR = 8 units. Which 2. The area of trianglc ADC is twice
of the following are correct? the area of triangle BED.
1. OQR=5XY Select the correct answer using the code

given below.
2. QR is parallel to XY.

]
3. Triangle PYX is similar to triangle (a) 1 only
PRO. (b} 2 only
Select the correct answer using the code (c) Both 1 and 2
given below. (d) Neither 1 nor 2

(@) 1 and 2 only 84,
(b} 2 and 3 only

fe) 1 and 3 only

{d 1,2 and 3

81. If a transversal intersects four parallel
straight lines, then the number of

. . A circle of 3 m radius is divided into
distinct values of the angles formed will

three areas by semicircles of radii 1 m

be and 2 m as shown in the figure above.

(a) 2 The ratio of the three areas A, Band C

(b) 4 will be

fc) 8 fa) 2:3:2 () 1:1:1

(d) 16 fc) 4:3:4 (d) 1:2:1
B-ABPA-P-JRW/54A 28
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79. Frafafaa w4+ w fmn $if .

1. U W agqs #, fw sfgemm 700 3,
e 21

2. WM EC n> 5% el oft n ogenadt
el T qgu w1 AR =2 R

IR FA T A FA-w /A T R

(a) FEd 1

(b) FEH 2

(c) 1323

[d A1 TH 2

80. frell fgwt POR # fag X, PO W 3in fig

Y, PRW 0 TR ¢ & XP=1.5 @K,
XQ = 6 T, PY =2 THE 441 YR = 8 THTE
| frfefis 4 & 9-9 wd 37

1. QR=5XY

2. QR XY ¥ HHiat 2|

3. fay= pyx, B PRO % wwey B
AR fow 0 2 F1 W W w@ I g
(a) Fad@ 1 3R 2

(b) Fad 2 3N 3

(c) a1 33

(@ 1,233

81. 3t vF Ty W wn wiw @ s @

vidwded wedt B, T W TER A Fi 5 B
Al A gE w0 ani?

(a) 2

(b) 4

fc) 8

(d) 16

B-ABPA-P-JRW/54A

82. T =k @ # 3 7 fro o waa 2, fw

T e € a9t 3 o o =@ 2, ol fw
< e ® wd 13 fro o 3w 21 3w =l
& e fig & st adam Rl A
7 et 27

(@) 6 fFo 1o

(b) 345 fio o

(c) 7 Fpo o

(d) 445 Tho o

83. ABC U% fqw 2, @ D, BC #1 nw-fag 3

84,

3 E, AD 71 neg-fig &1 Faferfias w3
Y B/ 9 /R

1. B ABC w1 &9, fiys BED ¥
8F%E 1 TR A B

2. PB@ ADpc #1 W, B BED ¥
8 1 3 T R

T for T g = i w wd I g

(@) &Fd 1

(b) *ad 2

(c) 1323

(d Ad1EAE 2

a1 T I sifed fa & 2w w0 R, 3 e
e % o g9 # 1 Fo 3k 2 o B &
el A 9 &1 3§ Rf e 2 A6
&1 A, B3R C 1 U #1 gm?

(@) 2:3:2 (b} 1:1:1

(c/] 4:3:4 (d 1:2:1

[P.T. 0.
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85. ”F:E_P and x-y= 8, then the
y 3 Vx

86,

value of xy is equal to

(a) 36
(b) 24
(c) 16
d 9

A

P

-

B Q C

ABC is a triangle right angled at C as
shown in the figure above. Which one
of the following is correct?

(@) AQ*+AB* = BP?+ PQ?

() AQ?+PQ? = AB?+ BP?

(c) AQ%+BP? = AB*+ PQ?

([d) AQ?+AP? = BK?+KQ?

B-ABPA-P-JRW/54A
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87.

96°

D

In the figure given above, AD = CD = BC.
What is the value of ZCDRE?

(@) 32°
(b) 64°
(c) 78°

(d) Cannot be determined due to
insufficient data

88. ABC is an equilateral triangle and X, Y

and Z are the points on BC, CA and AB
respectively such that BX =CY = AZ.
Which of the following is/are correct?

1. XYZ is an equilateral triangle.

2. Triangle XYZ is similar to triangle
ABC.

Select the correct answer using the code
given below.

(a) 1 only
(b) 2 only
{c/ Both 1 and 2

(d) Neither 1 nor 2
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85. ﬂﬁvf.;:L;—\’ifmx—y=8%,mwﬁ
w1 feras aua 87
(a) 36
(b) 24

¢ 16

(d 9

86. A

]
B Q c

ABC % fay &, omd ¢ wyam 3, 31 T
I ¥fera foa o goin mar ) ferfafiaa # @
-9 T e B7

(@) AQ?+AB? = BP?+ pQ?
(b) AQ?+ PQ? = AB%+ BP?
fc) AQ?+BP? = AB?+ PQ?

(d) AQ*+AP? = BK?+ KQ?

B-ABPA-P-JRW/54A 31

87.

96°

A t D B

R dfwa fag § AD=CD = BC®| ~CDB
0 #1 27

(a) 32°
(b) 64°
() 78°

(d) o wiFe % wro fuifa 58 e
EIREn|

88. ABCTH uvalg w2 sl fagd x, vy @ 2

FWI: BC, CA @91 AB W 39 Y& & f&
BX = CY = Az ¥ Frefafaa # @ #l-w1/8
wEl 2/8!

1. XYz T w9arg e 2
2. f@ xvz, B ABC % ww ¥

12 w0 72 1 Wm R 7 IW g
(@) Fad 1

(b) I 2

fc) 1323

(d A 1A 2

[P.T.O.
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89.

90.

o)

M

In the figure given above, p and g are
parallel lines. What are the values of the
angles x, y and z?

(a x=80°, y=40°, z=100°
(b) x=80°, y=50°, z=105
fe) x=70°, y=40, =z=11C°
(dl x=60, y=200, z=120°

2x+6y=21

h 4

The linear inequations, for which the
shaded area in the figure given above is
the solution set, are

(a) 2x+6y<21, 5x-2y<10
(b) 2x+6y<21, 5Sx-2y=10
() 2x+6y=z21, Sx-2y<10
(d 2x+6y=21, 5x-2y=10

B-ABPA-P-JRW/54A
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91, The election result in which six parties

contested was depicted by a pie chart.
Party A had an angle 135° on this pie
chart. If it secured 21960 votes, how
many valid votes in total were cast?

(@) 51240
(b) 58560
(c) 78320
(d) 87840

92, The mean and median of 5 observations

are 9 and 8 respectively. If 1 is
subtracted from each observation, then
the new mean and the new median
will respectively be

() 8 and 7

(b) 9 and 7

fc) 8 and 9

(d) Cannot be determined due to
insufficient data

93. The age distribution of 40 children is as

follows :

Age (in years) | 5-6 | 6-7 | 7-8 | 8-9 |9-10]|10-11

No, of children | 4 7 9 12 6 2

Consider the following statements in
respect of the frequency
distribution :

above

1. The median of the age distribution
is 7 years.

2. T0% of the children are in the age
group 6-9 years.

3. The modal age of the children is
8 years. https://www.pygonline.com

Which of the above statements are
correct?

(@) 1 and 2 only
(b) 2 and 3 only
(¢/ 1 and 3 only
(d) 1,2 and 3
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89, <

91, G @ FI, @H 38 el 3 wm forn, wfom
e (1§ =) TR T ) 36 gunE A
T A H B 135° 911 IR W 21960 W
fid, @ et frad 4 Td srel g &7

£
=

(a) 51240
I 3fed @ 7 p 3R g oI Tard ¥ B (b) 58560
X Y 3R z % U 41 87 fc) 78320
(d) 87840

fa) x=80, y=40°, z=100°

92. 5 Y&l % Wy i Witk wm: 9 v 8 ¥)

(b) x=8C, y=50°, z=105° IR TAF Y A 1 v W, A T M

() x=T0, y=40°, z=110° S e €8,
(a) 8 3R 7
(d) x=60, y=20°, z=120° ) 93K 7
(c) 83RO
(d) 9w A % v Reifa 78 fru =
Tad
90. .
93. 40 5= Fi 37 F e Frferfiaa 2
a7y (il 1) 56 |6-7 | 7-8 | 89 |9-10|10-11
Fedl &) HE 4 7 9 |12 6 2
ITT ARER 724 F &R ° fefifa sl
W fqmr $if
1. 24 ) HIfeme 7 9d 2
3 Yfaw s, for o o T ot e !
A T I it fo i vt T 2, 8 2. 70% 9= 6-9 7 ¥ g o § §)
3. 9= A age g 8 T4 B
fa] 2x+6y<21l, 5x-2y<10 @ﬁﬁ%ﬂﬁﬁ'@lﬁ-@ﬂﬁ%?
() 2x+6y<21, S5x-2y>10 (a) FaE 1792
(b) a9 2 3R 3
fc) 2x+6y>21, 5x-2y<10
(c) *ad 133
(d) 2x+6y=21 5x-2y=10 [d 1,23R3
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94, Suppose x; = A for 0 <i <10, where A > 1. 98, The value of the expression

Which one of the following is correct? [2-‘-}3+(54'F’)2 +(243 - 647)2
fa) AM < Median 243 x243 + 647 x 647
. is equal to
(b) GM < Median
fa) O (b) 1
c) GM = Median
“ (c) 2 (d 3

(d) AM = Median
99. If a and b are negative real numbers and

¢ is a positive real number, then which

1 .
. ;== =12 3,., 1L L
95. Suppose x; i for i=1,2,3 of the following is/are carrect?

Which one of the following is not 1. a-b<a-c
correct?
2. Ifa<b, then E-:-I-)-.
fa) AM >1/6 c c
3 ! < !
() GM>1/6 3 %
(c) HM>1/6 Select the correct answer using the code
(d) Median = HM given below.
(@) 1
96. The value of () 2 only
Llog,p 3125 - 410g,q 2 +1og,q 32 (c) 3 only
S (d) 2 and 3
' 100.
(@) O
(by 1
(c) 2
[d 3
i iameter of a circle with
97. If tan® +cot® = —4-. where 0 <8 < E’ then AD is tzhc diameter of a circle wi art?a
¥3 2 707 m? and AB= BC = CD as shown in
sinf +cosb is equal to the figure above. All curves inside
the circle are semicircles with their
(@ 1 diameters on AD. What is the cost of
J3-1 levelling the shaded region at the rate of
(b) —5 ¥ 63 per square metre?
(a) ¥ 29,700
(c) ‘G; 1 (b) ¥ 22,400
(c) ¥ 14,847
(d) V2 (d) None of the above
B-ABPA-P-JRW/54A 34
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94. WA Wi 0<i<10 % faw x, = 3, sl
A > 121 frfafaa 4 4 #7-a1 v v 27

(@) AM < wifeyaHt
(b) GM < Hifea
c) GM = Hifeda
(d) AM = mifean

95. "M difwe i=1, 2, 3,.., 11 % fay x, _Il
21 Frfafiaa 3 8 #9-w v wd) 78 7
(@ AM >1/6
(b) GM>1/6
() HM>1/6
(d) W= = HM

96. éloglo 3125-4log)y2+log,; 32 # HH
#7187
(@) O
(b) 1
fc) 2
(d) 3

97. 4 tan9+c0t9=i B, W@l 0<9<E, q
J3 2
sin® +cosh forash aen 87
fa) 1
) ==

(c)

(d) 2

B-ABPA-P-JRW/54A 35

08. F

(243 +647)° +(243 - 647)2
243 x243 + 647 x 647
1 17 forges agen 27
@) O b) 1
(c) 2 {d 3

99, iz q 3 b FoNHF TEdfaE wend § A o

100.

UF YAHE aRafas gedl ¢, at foefafag |
d FH-11/8 T 2/E7

l. a-b<a-c

2, 'ﬂﬁa«:b,?ﬁ EI-{b%l
c ¢

= faw 70 e 1w R Ad I gy
(@) 1

(b) Fa 2

(¢) Fa@ 3

(d) 2 ¥R 3

s T S sifed fom o 2ofn w0 3, AD @
g9 F1 IM ©, 99 F &Ed 707 91 Ho B
M AB=BC=CD %I 99 % @ @f 95
adga 8, s =mg AD w ¥ # 63 wft o
Hlo &l @ | BIfd 47 F FUR FA F AqME
71 7

(@) ¥ 29,700

(b) ¥ 22,400

(c) ¥ 14,847

(d) 3 A A FIE T

[P.T.O.
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T HE
0093405 TS0t YRt
BN CRI G
N ;3 " quI : 100
FJIA

1. wlen IRFE ¥R F TR 912, HY 37 T giern fi g oav = @ 6 e @i fmoow, v m g
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2. g it v f6 OMR sm-wa #, 3fm wam @, I 9 ok hewr gfemm sgww A, B, C W1 D M,
o # @ fm et g% o fenfr & @ ok geeg w0 A Rl sefiear @ ) Rl ot sen @
v /Tt 61 faf & v fre v B smem

3. @ vl qfem W ome 1 f o FieE A I Wl SgEETE
fewam R wlem yfee w iR 99 7 fad)

4.3%111&?1013@1':5!11 100 woAm (3 fou o §1 wede gvre R of sielt @1 8§ aw 2) yls wew § AR YW

awt) fou o ¥) @ A o YW W W S, B om swewE v iR w1 Al o T o a
Wuwaﬁ% A T8 W F) iR H W AT w0 | YA e ¥ R e @ e g b

5. amwE o Wil wgw s 3 Ry T s w @ s w0 ) swews 1§ fo R )

6. |t wl F 3iF WAW

7. 8 v 5 o ultew gfem ¥ fafm woe %y IW-v W R R IE W, H0H 140 P
IfvE FRA % SHER F9 fae IR d R R

8. A 9w Tl F I N 0 ¥ R au vhen ¥ e W FaE IW-1AE AfiaF 5 € @) 0 a0
Wy qlam yfam @ s @ sgefa )

9. ¥ ¥ & foru wF wham yfed & s § dam )

lﬂ.ﬂﬁﬂ?ﬂﬂ'&iﬁﬂqa’!’!:
agfre W -t & Fedeam g Ry T ew oW % fovg gz T wmem)

(i) voF v % o =n A= s §) sefean g v vA ¥ o fe o em am F e e g P e
T 3E F UH-foRd e & w1 S|

(ii) TR g Teiiean v A arft I 2 R, D W e T AA Smen, 7l fu g I § R v A d e,
i oft I8 vm F fou swdewrEr @ 6 @ w1 gve fan smom)

(i) afe Feieam 10 1 W vl A€ T T &, S IefeaR g oo fen s R, @ 38 v & fog @ e
Tét fean smom)

W AR AOH Tg ThHm gREe @e F 7 FE A a9 @ 4 el

Note : English version of the instructions is printed on the front cover of this Booklet.
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